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12 [MAERRIRUOTEMAT |50 BIRS FRVVAR ] gy 40,000{ 43,200
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IB[MAEFRIROZEMET |50 SIS ARV |y 47,000{ 50,760
1 [RAEFRTIRUOTERAT |50 SEPEE FRDIAR ] 54,100{ 58,428
5 [MAERRIROZEMET |50 BIRE FRDWHR | g 36,300{ 39,204
136 [MAERRIRUOZEMAT |50 EPL FBVWHR | gy 42,800 46,224
137 [RAEHRRIRUOXEMET |50 SEPULE FBVWHR ] g 49,200 53,136
138 |[BUAT BT e L =V R0 100~150m m 2,800 3,024
139 |ER{S B T At =/LRo100~125m m 2,900 3,132
140 | BRI B 7R T B Alte=/LRo150m m 2,900 3,132
14 [RERET (EEEe=LE) (R B 5,800 6,264
02 [ERMT (@EEEreoLE) (RS 2 B 6,400 6,912
103 [RERAT (EEE e LE)  [FEE 2030m B 6,800 7,344
W [ERET (@EEErEoLE) (RS O B 7,800 8,424
145 [RERAT (BEEE = LE) SRR 40~5m B 8,200 8,856
146 [RERM T (@EELL=LE) (R O B 8,800 9,504
147 [EEBHT() FHERECE =L (2 150w o 6.200 6,69
148 é)ﬁﬁlﬁl(u TNEERIEEZIL ﬁgg é%ﬂfvzsmm =R 7,200 7.776
149 [RERA T (#xEay s U— ) [EHE 150~600m B 9,300( 10,044
150 [RERAT (BB ay o U— hE)  [EHE 150~500m B 10,000/ 10,800
151 [RERAT (Y o U—hE) [FHE S0~700m B 10,500/ 11,340
152\ TRBEIRILEZLE) 2 oo ST B 35,600/ 38,448
153 THBI(RILE=LE) T B 32,400| 34,992
154 | TRET(ELEZILE) 2 oo ST iz 36,900 39,852
15| TRET (HLEZILE) 2 o oo SETLLE iz 33,700 36,396
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156 | & T RBEL(RILEZLE) B Ao ST B 57,3000 61,884
157 | T RBEIURILEZLE) 2 o i oo SEMLLE B 52,100/ 56,268
158|F TREL(ELEZILE) 2 Ao ST iz 58,500( 63,180
159 | TRBEI(RILEZLE) 2 o o SETLLE B 53,300 57,564
t60[mm=a1=y rRET el SN, &R | 4,013,400( 4,334,472
161 [mz=a1=y FRET i el . &7 | 4,102,800| 4,431,024
162 |EIEES T o Lz 25,2000 27,216
163 |EIEES T o o -1 Lz 31,100 33,588
164 |EIEES T B o2 (ki Lz 35,500/ 38,340
165 |PuBIEERA T o o2 SR B 40,000{ 43,200
166 |PuBIEERA T L o3 Ik B 43,000{ 46,440
167 |PBIEERA T o o3-SI B 45,900| 49,572
168 |EIEES T B o (R Lz 48,900 52,812
169| BTV EBTIBVH-MESBT) |[Barl oy m2 33,100 35,748
170|av 5 U—r ANITER e m3 55,400/ 59,832
Mfrvs—ovEvsioysmx [KEBERRNOHD) m2 4,500 4,860
mfg¥omOyEysTRonE e, e | 500 5,724
™ = Y I R
17 .jgyg_u\y*yg“ju\ygﬁgﬁ Hibsen 100288 BEEROS m2 5,400 5,832
g o TRy AY IR ORE [anmmeiesn i | w | 600 6,048
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m[gro-ovevrTayonR [Lam awenrese i | | 61000 6,588
180|FFR T Oy V% s m2 2,400 2,592
181 |TR IO o BRE R g 30cmen n2 4,800 5,184
182| TR T Oy s BRE e T 0cm e m2 4,700 5,076
1B |HEERATO Y VHE BRI m 2,600 2,808
18 lsmEER 0y 5 BABKE SHE0mUT ShokE) | 8,700 9,396
185 |thsEER 70 v s B m 2,600 2,808
186 b= o0 w 5 BABKE SHE0mUT ShokE) | 8,300 8,964
187 |k iy T (U{A) i BFIF L2000 1000kg{T SOkgi% | m 3,900 4,212
188 [HEKEE T (VFRIE) B L=2000 1000kgAF 50kgRiE | m 7,600 8,208
189 [L U =B RE BB B0 m 15,100/ 16,308
190 [LEV BB W= o B 0 m 15,2000 16,416
191 | BB = BRE B 2 m 15,300{ 16,524
192 | BRI BHEBRE B m 15,300{ 16,524
193[EHEEILE = LERET o n3 Doy Tt m 1,200 1,296
194 [BE R E = VERET o n3 Doy Tt m 1,500 1,620
195 |s0 Y o U — NERET T s Dby Tt m 1,300 1,404
196 [EMZL Wi 110, 2803 711,747 m 1,300 1,404
197 [MERET o 0. 2803 7117478 m 1,500 1,620
198 |F I HET(RILEZILE) 1.00m4 T Elzi 2,600 2,808
199 |F THET (R LE) 1500 iz 3,100 3,348
200 | =T HET (8L =)LE) 2.0 T Eilzl 3,500 3,780
201 | A T (SHexmpsEs) iz 700 756
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202 [ERET (SHarapss R 1,500 1,620
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205 |EaKkET-25 L f 92,800 100,224
206 [SERKET-14 LET f 88,500 95,580
207 |5 ExBUpAEEET-25 L {8 60,600( 65,448
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210 [SHakBIpsEET-25 LE {8 112,700 121,716
211 [shakaipsEET-14 L f 105,300 113,724
212 [sEexminsEET-8 LET f 104,600 112,968
13 [lEERKE 6200 1 5,400 5,832
214 lEERNE 300 1 7,300 7,884
215 |5 RE o f 9,300| 10,044
216 |G S s e f 15,800{ 17,064
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247 |72 TAHRIS T A ER H ooy 3. kil n2-H 350 378
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251 [{REgHt 3BT TR ok TR 3t = 14,300] 15,444
22|t oEme BBE s i = 20,300 21,924
253 |{REEH S DA . BRE) LB FAHBEL () t 6,700 7,236
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